EVyzns-
EBAE(S=1:20)] | BHIEEN (S=1:5)| |CHmME (S=1:5)| |A-ARER (S=1:10)] CR_20_HSP
2
5 ;;Z 0 7732 M4X 16 ggomN/fs u
4250 =DV T Ty Yy fi&
7922 M4><16y ) é?;f; ?f;:;&g’e X9Y Bl 4RE .6 79ALA M4x16 S
V-0V 5 Ty Uy RE ° oot +08 =077y v HE
= = REL B%wo S 1.6 BR N0y LARKS FREPETAL b M16X 150
1 M AA: 7790+ AV IAT N ARBRES
< \V_y\ -- -- - - 'QJ . < BE5o & + REDRER IIhIRIINT 2045
m i {7 /1~ BHhoro SR 1.6
| : - Bigi 7009 LAE t=0.5
8 B &+ TN TTITRARIIATH T=F2R=7
o REN(-RIER B SAKE t1.6 / \ e
S B & +
3 2 0100x100x3.2 772ER M4x B ¢
—— .
1. 225,559;2%; ;g #8E Wit 1 b M10x75/ K S8 0100% 100 3.2 - 2 0100x 1003, 5% = )
5] I | gl 3 En1-SR Bty b MBX 65 . B & + HERAER 126 T, &+ BRAKEE =
2 2 N ! \#8E 050%50% 1.6 910 \ J
I| |I #3507 B8 2R 3.2 BHo & + ARARER 910 <N
| | o &+ |
i i LED 118 B B
500 500 500 500 100VEA
- - RETY - BRUBSRECT
000 o0 | D—D#f@ER (S=1:5) | | E-EN@EN (S=1:5) | FRLCcRED, ' fo Gl
T T M8x 40
A0 B5 - £ 1.6 79ALA M4x 16 BOAGANT
| - - - — - | B & +HERERE V=UY7Ty Ve & | =}
. B 705y LAE 10.5 7 <
7732 Méx 16 BRL B8 E 11.6 8 -
m\ B> & s FABRER AR TR W
/ wBARY
| I 1~ BB SRE 1.6 H : 55%> EAK L |
TEHE(S=1:20) | | i S LR | Jo o] 4+
12 0100x 10032 ! g — i 1 Q| e BYOUPL 3.2
S fUk7 1~ Bi0o 2K 11.6 B0 - & + NRAARE I LR IR S ] \ \(LE7/-28 Bt &1 + MBX 65 | . = .
ERARLUTHY 204, . \ ABL Bt n b M8X65 Lo 7128 388 40K (1.6
Bhoho> & + 1
nm's?’:c’; ’1"20"75 %8 BftiL b M10x75 . Ry P
BE 050x50x 1. f=1
#8E 050x50x 1.6 | 2
ol Biho €1 HRRRER ! 5o £ + ARBRER «
B 10/t LK 0.5 8 o
W:77Uh+RIIATL (23-F2"=-9) ‘JA ™~ S
I % _ #%E 0100%100x3.2 \ g
E‘ /F | F—FH@EE (S=1:5) | | GH(/r2VEf)F#BE (S=1:5) | Buo € HaREH | +
(<] o -
793¢3 MAX 16 KDY B35 £AK t1.6
; "hﬂ:F = =F¥ A=F1=F1a- V-0V 57y Ve fiE THH- & + BRHRER %8 0100x100x3.2 HE [ - -
7 Ho & + o ry
S 2 0100x 100132 £2 0100 100x32 e enE /T U
B> &+ HERALE B ¥ +HRBREE 8 710/ LK 10.5
I | B 7708+ RUTA7 b AHERE (22— 1 25-7) ' I o] o] 4P
i
|
KDY B> & 1.6 |
| B> & + HERAER LAY LLLEY] | 8
; ] ! HBE Bi %1+ M10xT75 WD M8x 40 ~
| i s AL VB0
8 050x50x 1.6 |
N\\_BEL B@%- $E t1.6 T & + RERAER | 1S ag!
T & + REHKER T | Kiiex
EER(S=1:20) (MERG=1:20)] =
X -t | M8x 40 = = =
2327 , 2045 RORGELT oL | | E]
o
AEL B> S 1.6 OO 2227 50 32 0100x100x3.2 o g
TRO- & +HEHAREE A*—| BB & +HBNERS | | | -
x = T T T\ 0100x 100x 3.2
- )
éﬁ_ - 5% [ ¥ % 0100%100x 3.2 | THD- & + BERRER
J =2z \ \. /B & + HERREH [ \ \
LED 118 ]
N 100v#A : ! ©
1 O g
s o o
MBX 40 I ! 8 = = = ~
ROMG AL T
B 8 , 1
E 1| | T | |
—_— - ag 0100x100x32 " || b 1 - s v v v v s s
wzk 0100x100x32 || 3 2 Eiono & +HEBER ol gl B
BHno 5+ BINAER | N | ! ks ‘\;&X X X X X X
MEL2N / 1 I
Ik | ot Bado &
| ! | 600 700 200
- 50 1500 50
| R
5) 5] ! | o} o | 8
GL ,
o o
| ©° | | e
A] ZE
$9x 200
|
/ I 5-D130200 8 é RN 11| 1-p13@200 8
% [ S S
I | 3 3
[N 180080 d I I L
8 8
500 500 600 700 200
50 1000 50 50 1500 50




